Vv [1Z281] 1HOFBEMHE Vv [1Z28] L, BEOFB KM

o | Hr | T |[FH6B 4.5 X6 =2785RE

T T T #E1E 8.1 X1 =8 1K

M| 8] 8 ymmesteimssr = 35. 1w

Vv [1Z28] 1 » AOFEISMHE

1 Aastasesr = 194. 48565
~PTEATIR. DEIKFHELHE2WETEET ~

% SEETHOEBICHKAT. BRTIETOAE—- KA SRWERITShTWLET !

V7 ER BOEEIFR V273 EAR1n ABEOF 8RR
3 : 309 & - 88 E66H%Fa‘l

258 : 1R[E309 5258 ¢ F 4458 eom
&Y : 158 B&x*: A23. 1H%Fa‘l

XHBRYTFEADTFAP - FIVITA
b-BRETAL  -REAOB\ESLBLICME.
BEICIKHUTEBRBEHRLTEVET,

e%l- : 3H§Fﬂﬂ ﬁ%‘l‘ : 199. 1H§Fﬂﬂ
VREBOZHEH

(ﬁ%d)#g%) BIF4FRE— b 46.5 BREAAY #2s ek 78.7
B TAR A b 46 AARE (s 2m8) /3.1

ZoEeH R 2 — b 43 BAAS (Aami) 95.5

BIFEAB R A — b 33 BAFRAFE(ARALBRER) 77.6

> H%E&ﬁg u: . B2 8 X 4 — b 31.5 3 B B S R RS D) 84.3
201 8$3H ®E2$ B1E 4B R4 — b 29.5 CAE N CNCTST:) 80.4
§Eﬁ§i5 ,/ =‘= ,/ 7 =1EeH 24— k 29 PFAAE (RBEE) 76.2
-Z“ .3_ . 5 ,/ =‘= ’ 7 BaETHR R — h 29 EBERE [FEPE] EFAFERER) 83.4
*Eﬁo).l 1 82575‘ B1E s R4 — F 28.5 BARRAZE (REEE) 85.2
r v t QJ:G)IE& B1E9F R & — k 28 HREMKE (KNESK) 78.3
ﬁ*ﬁ | E r& l/ i% w_ e 8A R & — k 28 BERT ORamt) 73.5

shElLL!! BT 34 BRET X bF 80.6




VERKIGOLROME SMERLTRIS L]
____

B1E AR L — K BHE

l

‘ mEE : 3447/313 A
A 162/313 A

A T 12912/316 A G 1i/312A

REE 1 981iu/316 A

x:E  138= ®:E 1382 mzE 1 1292 wiE L 1982 ®E 1918
(RZ1E67.1) (RZE1E66.7) (RZEE64.4) (RZ=1E69.2) (R Z=1E65.3)
EE 1815 EE 1325 EZE : 10855 EZE 1845 EE 1718
(REMET1.9) (R Z=1E66.5) (R Z=1E65.3) (R Z=1E65.6) (R Z=1E58.0)
_ HRE 1 69= RS 1945 HRE D 97TH
(RZE1E62.4) (RZ1E6T) (RZEME64.1)

TiMRZEME09.1 &FfHREZE(E66.6 GiHRZEIEGS TEMRZE(EDD.6 AFHRZEE62.9

Hi 8 B B

Eﬁﬁﬂi)ﬁﬁj‘?— I"b*ﬁﬁr‘?gﬂ ‘%1%’ Ve A—RREBAESA

(BEERKBRIEIY

=1 56.3 — 69.2 O 1 &/2005&

(BE1ET—-E82—TLDEEETY) == |
= 623 — 71.9 x

EﬁE7%2-$2@?—7®&ETT) 2/ m/ 100

fm=1E 50.7 — 69.1

(& <T—oE2-F2BIT—ODOHETY)



